LIMTRESTOPPUR: Go + 4.14

Go + 2.90
=
Bo + 2775
Go + 2.40 Go +
R ESA \-SAMSKEIT! PLATNA: Go + 2.48
Go + 2.25
~Go + 0.85
\ /'GO + 0.03
B VGO = 0.00
7T J\G:O T gOA1.2..\ "= T A e — = —— ————————— —= — | \l
— ! Go — 0.12 l 2
1 co - 082 _
L—A‘ l
Lt
Go — 112
|
!
'r
VERKEFNI: 4|
L VIK. SKIDABRAUT
VERKHLUT: KVARDI: T |
1/50 | |
| —~ DAGSETNING: | L
BESNSINSOD: L AR=81 |
* | TEIKNARI: ! T !
FO
SNEIDING e
| [
: |
1,
HANNARI: KENNITALA: | VERKNUMER—BLADNUMER:

FRIDRIK OLAFSSON, CIVILE. 2407532439| V049130—-05




